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GROUP I MAIN  
RATIO PROPORTION - ASSIGNMENT 

 
1. A ribbon is cut into 3 pieces in the ratio 3: 2: 7. If the total length of 

the ribbon is 24 m, find the length of each piece. 
24 kP ePsKs;s xU hpg;gd; 3 : 2 : 7 vd;w tpfpjj;jpy; 3 Jz;Lfshf 
ntl;lg;gLfpwJ vdpy;> xt;nthU Jz;bd; ePsk; vd;d?  
 

2. If A : B = 2 : 3 and B : C = 4 : 5 then A : B : C is  
A : B = 2 : 3  kw;Wk; B : C = 4 : 5  vdpy; A : B : C  -ia fhz;f.  
 

3. The ratio of three numbers is 3 : 4 : 7 and their product is 18144. The 
numbers are: 
%d;W vz;fspd; tpfpjk; 3 : 4 : 7 kw;Wk; mjDila ngUf;fy; gyd; 
18144. vdpy; me;j vz;fs; vd;d?  

  
4. A soap factory produces 9600 soaps in 6 days working 15 hours a 

day. In how many days will it produce 14400 soaps working 3 hours 

more a day? 

xU Nrhg;Gj; njhopw;rhiyahdJ ehnshd;Wf;F 15 kzp Neuk; Ntiy 
nra;J 6 ehs;fspy; 9600 Nrhg;Gfis jahhpf;fpwJ. ehnshd;Wf;F 
$Ljyhf 3 kzp Neuk; Ntiy nra;J 14400 Nrhg;Gfs; jahhpf;f 
mjw;F vj;jid ehs;fs; MFk;?  

5. In a school of 720 students the ratio of boys and girls is 7 : 5 How 
many more girls are to be admitted to make the ratio 1 : 1?  
720 khzth;fs; gapYk; gs;spapy; Mz;fs; kw;Wk; ngz;fspd; tpfpjk; 
7 : 5 MFk;. ,t;tpfpjj;ij 1 : 1 vd khw;w vt;tsT ngz;fis 
$Ljyhf Nrh;f;fTk;. 
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6. Kumar monthly salary is Rs.54,000.  He spends 
1

6
th  of his salary as 

rent, 
1

3
th as education, 

1

4
th as transport and the remaining as his 

savings.  The amount saved by him as.  

 Fkhh; vd;gthpd; khj rk;gsk; &.54>000.  mjpy; 
1

6
ghfk; thliff;Fk;.  

 
1

3
ghfk; ft;tpf;Fk;> 

1

4
ghfk; Nghf;Ftuj;jpw;Fk; nryT nra;fpwhh;.  

 kPjpia Nrkpj;J itf;fpwhh; vdpy; Nrkpf;Fk; njhif.  
 

7. A sum of Money is to be distributed among A, B, C, D in the 
Proportion of 5 : 2 : 4 : 3. If C gets Rs. 1500 more than D, what is B's 
share.  
xU njhifahdJ A, B, C, D Mfpa ehy;tUf;F 5 : 2 : 4 : 3 vd;w 
tpfpjj;jpy; gphpj;J nfhLf;fg;gLfpwJ C – w;F> D –I tpl & 1500 
mjpf mstpy; fpilf;Fnkdpy; B-d; gq;F vd;d?  

 

8. If (a+b) : (b+c) : (c+a) = 6 : 7 : 8 and (a+b+c) = 14 then the value of c is.  
(a+b) : (b+c) : (c+a) = 6 : 7 : 8  kw;Wk; (a+b+c) = 14 vdpy; 'c' d; kjpg;G 
fhz;f.  

 

9. If Rs. 510 be divided among A, B, C in such a way that A gets 
2

3
 of what B gets 

and B gets 
1

4
 of what C gets, then their shares are respectively  

& 510 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. A vd;gth; ,jpy; B 

ngWk; njhifapy; 
2

3
 ngWfpwhh;. B vd;gth; ,jpy; C ngWk; njhifapy; 

1

4
 

ngWfpwhh; vdpy; mth;fspd; gq;fPl;Lj; njhiffs;  

  

10. Salaries of A and B are in the ratio 2 : 3. If the salary of each is 
increased by 8000 the new ratio becomes 4 : 5. What is A's salary?  
A kw;Wk; B ,ilNaahd tUkhdj;jpw;fhd tpfpjk; 2 : 3. ,UtUila 
tUkhdKk; & 8000 cah;j;jg;gl;l gpd; mth;fSila tpfpjk; 4 : 5 
MfpwJ. vdpy; A tpd; tUkhdk; vd;d?  
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11. A sum of Rs.312 was divided among 100 boys and girls in such a way 
that each boy gets Rs.3.60 and each girl gets Rs.2.40. The number of 
girls is 

 &.312 I 100 khzt> khztpfspilNa xU khztDf;F &.3.60k; xU 
 khztpf;F &.2.40k; fpilf;Fk;gb gq;fplg;gLfpwJ. vdpy; khztpfspd; 
 vz;zpf;if 

 
12. Three numbers are in the ratio 3 : 5 : 7 and their average is 60. Find the 

smallest number? 
%d;W vz;fs; 3 : 5 : 7 vd;w tpfpj;jpy; cs;sd. mtw;wpd; ruhrhp 60 vdpy;> 
mt;ntz;fspy; kpfr;rpwpa vz; ahJ? 
 

13. Arun, Kamal and Vijay invested ₹ 8000, ₹ 4000 and ₹ 8000 
respectively in a business. Arun left after six months. If after eight 
months, there was a gain of ₹ 4005, then what will be the share of 
Kamal? 

xU njhopypy; mUz;> fky;> tp[a; MfpNahhpd; KjyPL KiwNa ₹ 
8000, ₹ 4000, ₹ 8000 MFk;. MW khjq;fSf;F gpwF mUz; 
tpyFfpwhh;. vl;L khj Kbtpy; ,k;%thpd; yhgj;njhif &.4005 vdpy; 
fkypd; gq;F vt;tsT? 
 

14. A can contains 40kg of milk, from this container 4kg of milk was 
taken out and replaced by water. This process was repeated further 
two times. How much milk is now contained by the container? 
xU ghj;jpuj;jpy; 40 fpNyh msT ghy; cs;sJ. mjpypUe;J xUth; 4 
fpNyh ghiy vLj;J tpl;L> 4 fpNyh jz;zPiu Cw;Wfpwhh;. mNjNghy; 
mth; NkYk; ,uz;L Kiw nra;fpwhh;. ,g;nghOJ me;j ghj;jpuj;jpy; 
vt;tsT fpNyh ghy; cs;sJ? 

 

15. The Income of A, B, C are in the ratio 9 : 10 : 11 and their spending are 

the ratio 3 : 4 : 5. If A saves 
1

3
 of his income, then the savings as A, B, 

and C are in the ratio of.   
A, B, C apd; tUkhdq;fspd; tpfpjk; 9 : 10 : 11 kw;Wk; mth;fspd; 

nryTfspd; tpfpjk; 3 : 4 : 5. A jd;Dila tUkhdj;jpy; 
1

3
 gFjpia 

Nrkpf;fpd;whh;. vdpy; A, B kw;Wk; C tpw;fhd Nrkpg;G tpfpjj;ij 
fhz;f.  
 


